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Guidance for this examination 
 

Please ensure that you indicate clearly, at the top of the answer booklet, the 
law viewpoint from which you will be answering: English, Scottish or Welsh. 
 

The examiners may expect candidates to show knowledge of legislation which 
is in place but not in force (i.e., has been enacted) and regulations which have 
been made but are not yet in force, if they are directly relevant to the subject-
matter of the examination. 

Examination structure 
 

There are two sections to the examination paper: 
 

Section A Consists of six question  0  re
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Section A 
Candidates should attempt to answer four questions. 

Each question carries ten marks. 




